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TEPEHERE - (EFE
B ERE
JEHE T
H L
PRI BER SRR nf | 81.81 80
S BERAR AL m | 81.81 80
BERR MMM AL B | 507 N T w7 AUREIRGE R | 81.81 80
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SAERR BT t=15cmPL m | 467.3 | 467
[ t=15emLh ni | 1363.4 | 1360
XA AL PR o7 N Ty 7 10t FERkEE ot 68. 2 68
To ERAGE R R 2t EREEEES ke T | A 1.0 1
B EAAET
B AR AR t=130mm, JE& FLAIH ni | 1363.4 [ 1360
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) (1=60mm) FHAHLRLEEAS (20-75) ni | 1363.4 [ 1360
#JE (t=50mm) FHEBRLEAS (20-75) ni | 1363.4 [ 1360
X T
X T
XA FEM H W=15cm m | 401.8 | 400
X R FEH #E W=15cm m | 205.0 | 210
XA €77 H W=4bcm m 43.5 44
XA R i A W=15cmifaf m 65. 1 65
X R o5 # W=15emifl m 3.4 3
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Fiii Al 7 B = By &
TEEHERT - 1&5E
BT
PEHI T LT R ACE R E X 1363, 4m X 0. 06m = 81.8 m
b (PR B LT R ACE R E X 1363, 4m X 0. 06m = 81.8 mni
BERR BEARAS ALER DID7Z2 L 6.0kmEA T 1363.4ni X0.06m = 81.8 mni
AfAE T
AL O TE (6. 4) & (5. T) +F UL (228, 0-MHEZERR0.8)  =| 467.3 m
+4b 4] (228. 0)
T AT 7 v N Y)W KLy
467.3%0.13/100 = 0.607 m
L R R EEmERE A ELY =| 1363.4 nf
TRIE TR LR DID7Z2 L 6.0kmEL ™ 1363. 4ni X 0.05m = 68.2 mi
T A7 7 v NI R 7K SE R AL ER 5. 0kmLL T 0.607m X 1, 100kg=667kg = .0 &
¥ EEAT
B AR (1=130mm)  |{ERAILEIA EEmERE A ELY =| 1363.4 m
Lt AL ME : 696ke/1000t
(1001t X 0. 13mX 2100kg /i X 0. 025 X 1. 02)
B A& 3L Al & 1406L/100nt
(100nd X 0. 13mX 2100kg /i X 0. 05X 1. 03)
ELLE T
HJE  (t=60mm) MR EAs (20-75) SHEEmEEEHRELY =| 1363.4 i
)= (t=50mm) FABRIEAs (20-75) SEmEKEFEELD =| 1363.4 ni
DX R T
FEHE E W=15cm X B R R E LY =| 401.8 m
FEHE H W=15cm X B R E LY =| 205.0 m
Y77 B W=45cm XEMREEHEELY = 43.5 m
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RS B W=15emif XA R E LD = 3.4 m
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- T AT 7 )b MR

X5 H R LFIS! e B HLH [ AE ik
No. 0 0.0 6. 40
No.  0+7.2m 7.2 6. 20 6. 300 45. 36
No. 1 12.8 6. 00 6. 100 78. 08
No. 2 20. 0 6. 00 6. 000 120. 00
No. 3 20.0 6. 00 6. 000 120. 00
No. 4 20. 0 6. 00 6. 000 120. 00
No. 5 20.0 6. 00 6. 000 120. 00
No. 6 20. 0 6. 00 6. 000 120. 00
No. 7 20.0 5.90 5. 950 119. 00
No. 8 20. 0 6. 00 5. 950 119. 00
No. 9 20.0 5. 80 5. 900 118. 00
No. 10 20. 0 5. 80 5. 800 116. 00
No. 10+10.0m 10.0 6. 20 6. 000 60. 00
No. 11 10.0 5. 70 5. 950 59. 50
No. 11+8.0 8.0 5.30 5. 500 44. 00

X5 JESi S HLJH AR =
No. A 5.3 1.7 4.51

YL 228.0 m [fifEat = 1363.445 i
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el £h, & 2 | ES(m)| A% HHEE ik
AR (LARD) H 15cm FE | 223.80 1 223.80 |No.0~No.11+3.8
-7.20 [No.0#ZefR
-3.00 |No.10f# M #1E
AMARR (RAAT) H 15cm EHE | 188.20 1 188.20 [No.0~No0.9+8.2
REEPAS S T 15cm FEHE | 205.80 1 205.80 [No.0~No.10+5.8
-0.80 |MH$EBs
FEWT A E =i 45em | BT 3.00 7 21.00 [No.10
I I I 3.00 5 15.00 |No.11+8.0
I I I 2.20 1 2.20 [No.11+8.0
Bk N n n 2.60 1 2.60 |No0.0+7.2
I I I 2.70 1 2.70 [No.10
A H [15em#s| 2% | 16.10 2 32.20 [No.2
A —R¥EH n n n 24.85 1 24.85 [No.8
TF-RE L I U I 8.00 1 8.00
H kAR TH | 15em#E| RS 3.40 1 3.40
ARl A 15cm FEf 401.80
I 15cm FEHR 205.00
H 45em | BT 43.50
I 15cm#fas| 5055 65.05
o [15em#s| Fo5AE 3.40
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B RAETE JEHI T I R RN R AR 81.81 37| 2.21 | 3.90 5| 11.05 |#BI-162|7&H
EREERET |BREEREIWT  |15emPL T 467.3 230 | 2.03 | 3.58 4.06 |%aR-269|/8 M
SRLERRAERE |15emPA TR 1363. 4 510 | 2.67 | 4.71 13.35 |#HI-268| &M
MERAT | B4 [t=130mm 1363. 4 790 | 1.73 | 3.05 8.65 |smnmE-216| 1 [
TAT7VIMEREE T | AR EAs t=60mm nt | 1363.4 | 1300 | 1.05 | 1.85 5.25 [#aHi-256 |7
3] BRI EAs t=50mm nt | 1363.4 | 1300 | 1.05 | 1.85 5 5.25 [#aHi-256 | &
X i T X E | A W=15cm m 401.8 | 1000 | 0.40 | 0.71 2 0.80 |FE%e-3 |BRA
EH H W=15cm m 205.0 | 1000 | 0.21 | 0.37 2 0.42 |FE%e-4 |BRA
Y75 A W=45cn m 43.5 | 450 | 0.10 | 0.18 2 0.20 |FE%e-3 |BRA
A T W=l5em#fE | m 65. 1 333 | 0.20 | 0.35 2 0.40 |FE%e-3 |BRA
L% B W=15cm{fald m 3.4 333 | 0.01 | 0.02 2 0.02 [FEHE-3 |EMH
7 (&) 8.71 [15.36 43.55
it (B 2.95 | 5.21 5. 90
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(s rakBR) +21H (LA B0 +208 (% FAHT BIRT) =108H =3.64 A




